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Q. No. 1 carries I mark _ . 1x6= 6
Q. No. 2 carries 2 marks - o 2x5 = 10
Q. No. 3 carries 4 marks : 4x3 = 12
Q. No. 4 carries 6 marks 6x2 = 12
Q. No. 5 carries 1 mark =1
Q. No. 6 carries 2 marks | = 2
Q. No. 7 carries 4 marks ' : = 4

- Q. No. 8 carries I mark ' _ - 1x3= 3
Q. No. 9 carries 2 marks - 2x4 = 8

- Q. No. 10 carries 4 marks ) 4x2= 8
Q. No. 11 carries 6 marks : _ = 6

" Q. No. 12 carries I mark | 1x2 = 2
Q. No. 13 carries 2 marks - = 2
Q. No. 14 carries 4 marks 4x2 = 8
Q. No. 15 carries 6 marks . = 6
Q. No. 16 carries 2 marks | - = 2
Q. No. 17 carries 4 marks | _ - = 4
Q. No. 18 carries 4 marks | = 4

Total = 100
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(2)

SECTION—A
( Reading )

1. Read the following passage | carefully and answer the

questions that follow :

I got into the coach. It drove away. At last I reached
London in the morning. There one of the masters of the
school was waiting for me. His name was Mr. Mell. I said
that I had had no breakfast.

“We will buy some food”, said Mr. Mell. “I have to visit an
old lady; you may eat it at her house.”

We walked a short distance and came to some
almshouses. (These are small houses built by some rich
men for very poor people to live in.) Mr. Mell went into one
of these houses.

“My Charley!” said the woman. She was Mr. Mell’s mother.

We sat down and ate breakfast. Afterwards the old woman
said, “Have you got your whistle, Charley?”

He took out a whistle and began to play a very sad tune. I
have never heard anyone play worse.

We went back and got into another coach,. It drove away
and we came at last to Blackheath.

We walked a short distance and came to a high brick wall.
Over a door in this wall there was a board with SALEM
HOUSE written upon it.

The door was opened by a man with a wooden leg.

“The new boy”, said the master.

/119

/119

(3)

Salem House was a square, sad—looking brick building.
I was led into a schoolroom—the saddest and emptiest
place I have ever seen. It was a long room with three long
lines of desks in it. Bits of paper lay on the floor. The walls
were covered with ink as if a rain of ink had come through
the roof and there was a strange unpleasant smell in the
air. For some days 1 was alone in the place with Mr. Mell.
The boys had not come back yet from the holidays; and
Mr. Cfeakle, the headmaster, was away at the sea. I had
my meals with Mr. Mell. He wrote, and when he had
finished writing he pulled out his whistle and played sad
tunes on it. I read, or listened to the whistle, and cried
myself to sleep when I went to bed at night in a big room

with many empty beds in it.

Questions :
(@) When does the speaker reach London?
(b} By what name does Mr. Mell’s mother call him?

(¢} At which place do the speaker and Mr. Mell arrive at
last? '

' (d) Who opens the door at Salem House?

(e} What are almshouses?

[ Contd.



(f) Give a brief description of Salem House. 2
{g) What did Mr. Mell do after he had finished eating with
the speaker? 2
(h) Pick out words from the passage that mean the
following : 1%x2=2
(i) Scent

(4)

{ii} Vacation

2. Read the passage given below and answer the questions
that follow : '

1.

/119

Indian society is old and it is extremely complex.
According to a popular estimate it has covered a span
of five thousand years the period of its first known
civilization. During this long period several waves of
immigrants, representing different ethnic strains and
linguistic families, have merged into its population to
contribute to its diversity, richness, and vitality.

Several different levels of social evolution coexist in
contemporary India : primitive hunters and food
gatherers; shifting cultivators who used digging sticks
and hoes (not ploughs and draft cattle); nomads of
different types (breeders of goats, sheep, and cattle;
itinerant traders; and artisans and craftsmen); settled

agriculturists who used the plough for cultivation;

(5)

artisans, and landed as aristocracies of ancient
lineage. Most of the major religions of the
world—Hinduism, Islam, Christianity, Buddhism—are
found here, and in addition there is a bewildering
variety of cults and sects with different orientations in
belief and ritual. In the process of its evolution, Indian
society has acquired a composite culture, character-
ised by stable patterns of pluralism.

It is difficult to identify the earliest inhabitants of
India. Not surprisingly, there are no written records
about them because at that time writing had not been
invented. The oral tradition of the people is also not of
much help, for later additions and subtractions render
it unreliable as a guide to histoi‘y. The evidence of
prehistory is more dependable, though it can rarely
tell the whole story. Many of the minute details of life
cannot survive the ravages of time. We now
know that early human activity in India goes
back to the second Inter-Glacial period, between
400,000 and 200,000 BC. |

- Questions :

(a) On the basis of your reading of the above passage,

make note on it and add a suitable title to it. S5

(b) Make a summary of the above passage in about
80 words. | 3
{ Contd.
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(6) | (7))

SECTION—B OR
( Writing ) L

Write a letter to the Editor of The Assam Tribune drawing
attention of the authorities concerned to the insufficient
supply of pure drinking water in your locality.

3. You are the Cultural Secretary of your school/college and
planning to organize a cultural programme on the

occasion of Golden Jubilee of your school/college, in the &
second week of April. Write, in about 100 words, how you
. . . SECTION—C
are going to organize 1it. 6
: ( Grammar )
OR .
6. (@) Fill in the blanks with suitable determiners given in
Your school/college observed ‘Lachit Divas’ on 24th . the brackets : | x0=1
November. Many students and teachers took part in the . ' ' _
_ T | _ - (i) Shespent___ - rupees her mother had given her.
celebration. Prepare a report on how the celebration took
' (few/a few/the few)
place. (Maximum 100 words) 6 3 ' _
(i) Do you have ______ complaint against me?
(any/some)
4. Write a speech to be delivered at the morning assembly of (b) Rewrite the followd
your school/college on the topic, The Importance of :x:;n et ; ° 'lowm.g sentences with the correct forms
Physical Exercise’. ' 6 of the verbs given in the brackets : /ax2=1
OR {ij She (suffer} from fever since the day before
yesterday.
Wnte an article for your school/college magazm¢ on ‘The (i) The play (start) before we reached the stadium.
importance of proper use of smart phones’. 6 - '
| (c/ Fill in the blanks with appropriate modal
| _ auxiliaries (the sense of the sentence is indicated in
5. You are Deepa/Dilip. You have seen an advertisement in a the brackets) : Lox9=1
regional newspaper for the post of a Manager at Kaziranga _ _ : _
Resort, Kaziranga. Write an application to the concerned () You ____ mnot steal. (Command)
authority in response to the advertisement stating your i) 1 help you as far as possible.
qualification and experiences. 8 " (Willingness)
/119 : | ' ) /119 - [ Contd.



( 8)

{d) Correct the following :

{ij The cricket team returned back to

yesterday.

(ii) ﬁe took his sheeps to graze.

Yax2=1

India

7. {0 Complete the following piece of conversation by

choosing the correct alternatives from the brackets : 2

Ankita said to his mother, “Mother,
(have/had) finished my homework. May

Anju’s house?” Her mother replied, “No, you

(should/would) not.”
“No, 1

Ankita  said

replied, “In that case, you can go. But you

(can/must) come back before it is dark.”
(b} Rewrite the following sentences as directed :

(i) 1 am responsible for what I do.

I 'go to

again,

(must/may) see her.” Ankita’s mother

S 1x%2=2

(Make it a simple sentence)

fii} Al ghttermg things are not gold.

~ (Make it a complex sentence)

. Rearrange the words in the following to form meaningful

sentences

1x2=2

(@) began to / the station / cards / the train / when /

play / whistled off / we / from.

(b) of smoke / outside / a ring / there / curling / the

kitchen / out of / was / the chimney.

/119

(92)

SECTION—D

( Textual Questions )

9. Read any one of the stanzas given below and answer the
questions that follow :

() And who art thou? said I to the soft-falling shower,

(b)

/119

Which, strange to tell, gave me an answer,

| as here translated :
I am the Poem of Earth, said the voice of the rain,

Eternal I rise impalpable out of the

land and the bottomless seé_,

Upward to heaven, whence, vaguely form’d,

altogether changed,

and yet the same,
(i) To whom does the speaker address?
(ii) Who says, ‘I am the Poem of Earth” ?
(i} Why is the sea called ‘hottomless’ ?
{iv) Who goes Upward to heaven’?

(v} What is the

meaning of
impalpable’ ? '

‘Eternal I_

OR
When did my childhood go?

Was it the day I ceased to be eleven,

Was it the time I realized that Hell and Heaven,

Could not be found in Geography,

rise

[ Contd.



(10 ) (11)

And therefore could not be, 11. A A f th
. Answer any five of the following questions : 2x5=10
Was that the day! Y g. a
(i) What is the speaker é_sking about his childhood? 1 {a) Give a pen picture of the narrator’s grandfather as he

eared in th it.
(i) At what age, did the poet’s childhood go, appearec in the portrait

according to the poet? ' 1 (b} Why did the narrator’s grandmother give the
(iiij What cannot be found in Geography? 1 . impression of ‘winter landscape in the mountains’ ?
(iv) What does the poet discover about Heaven and (¢) Find out the correlations of Yin and Yang in other

Hell? ' 1 cultures.

{v) Explain the main thought of the above stanza. 4 _
o {d) What is lacking in Shanshui?
10. Answer any two of the following questions : 3x2=6 ' .
(e What is propagated by the concept of sustainable

(a} What does the word ‘cardboard’ refer to in the poem,
_ development?

A Photograph?

(fi Why is the growing population worldwide detrimental

(b) Why did the poet’s mother laugh at the snapshot?
to the earth’s health?

{c¢/ How is the cyclic movement of rain brought out in the _
- poem, The Voice of the Rain? | | (g) What does Verrier Elwin say about the hospitality of

| _ _ th eople?
{d} What are the functions of rain? ¢ Assamese people

fe) What is th_e_father’s problem in the poem, Father to (h) ‘What are Verrier Elwin’s views about Assamese
Son? : ' women’s sense of colour?

{f) How does the father try to improve the situation of |
tension and silence hetween the father and the son? 12. (@) “It has been well said that forests precede mankind;

(g) Write about the hypocrisy of the adults mentioned in deserts fo.llow. " Explain, o 6

the poem, Childhood. OR

(h) What does the expression ‘producing thoughts that . '
(b} Write, in your own words, about the author’s life with

were not those of other people" mean? .
, his grandmother at their village home. _ 6

/119 | |
- /119 [ Contd.



(12 )

13. (a) Give a brief account of Ranga’s education, his views on
marriage, and how he finally got married. 6

- OR

{b) Explain the cause of conflict between the history
teacher and Albert. ' | 6

14. Answer any two of the following questions in brief : | 2x2=4
{a) What was Mr. Koch’s opinion about Albert?
(b) Why waé Ranga’s homecoming a great event?
- (¢} V\;ha_t is the name of Ranga’s village and ﬁvhat does the

narrator say about it?

L B

/119 - . €23
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(2) - | (3)

GROUP—A 2. Answer any'six of the follbwing questions : 1x6=6

(Prose ) (@) Who is the suitor of the story, The Suitor and
- Papa?

: ; . Yax10=5 .
1. Answer any ten of the following questions : : (b) Who asked for a stag party?

fa) What does §iffy’ mean? {c) How many daughters did Kondrashkin have?

(b)) What does ‘popover’ stand for? - ' (d) Which is the hardest part of schooling, according

to G. B. Shaw?
(c) What is Gusev?

(¢ Which boots were not divided into rights and

(d) But I am . (Fill in the blank) lefts
el (f)l Does the scholar who knows everything exist?
(e} Who is Virgil:
- _ (g) How do the villagers plough the narrow fields?
(f/ What is ghooral:

ing of ‘vanity”? (h) How did the tiger kill his first victim?
(g} What is the meaning o anity | |

blank) () What is the name of the vehicle mentioned ' in

the story, How it Happened ?
(i Who was Perkins?

. -

' () What, according to Gardiner, are the liberties to
(k) Who says, ‘Operation successful? . preserve? _ _

: . » 0 - * D
() What is a satchel? | .(m) Which bird did the captive think of ]

/118 | /118 [ Contd.



(4) [ | (5)

3. A any six of the following questions : 2x6=12 S. Answer any two of the following questions : 5x2=10
. Answer _ s

(@) Why did Kondrashkin fear that Pyotr might be
sent to Siberia?

(b) Why did Kondrashkin call Pyotr dishonest?

(c) What is G. B. Shaw’s opinion on ‘routine’?

{d) Why is da Vinci’s notebook considered funny’?

{e) Describe the dress of a h_igh-caSte hill woman.

(f) How do the inhabitants of Kumaon villages get
news of"”ﬁhe outside world?

(g) What was_whirring like a high Wlnd?’

LI R

(h) What is the food offered to the captive in the
‘headman’s house?

Answer any four of the following questions : 3x4=12

(@) Why did Dr. Fituyev refuse to give Pyotr the
certificate he wanted?

(b) Why does G. B Shaw call hlmself ‘an educated
man’? . o

'_{c) About what does Corbett caution his imagined

. readers?

(d) Why d1d the ‘narrator feel that he was ‘llke a
man in a dream™

(e} What is bio- p1racy'9 I—Iow does it affect a country?

/118

fa) A free bird

/118

(a) Why did Pyotr decide to adopt ‘Hamlet’s dewce
and why did he fail in this venture?

(b) How does G. B. Shaw argue that a routine,

supposed to suit everybody, actually suits
nobody?

{c) Describe the two instances when the villagers
display bravery and courage

{d) What prompts A. G. Gardiner to heap praises on
the bus conductor?

B -~

{e) Why was the narrator amazed }to know the
~ actual status of Stanley'? ' '

(/) Write about the journey undertai{en by the
captive and the young man.

Lo

GROUP—B

{ Poetry )

6. Answer any eight of the follox_ﬁ;ing quesﬁohe. Yox8=4

. (Fill in the blank) -

'._(b) Where was Maya Angelou born?

c) Name the poetic autobiography written by
. Wordsworth. S .

- {d) Where was the speaker on that S_p_rin_g d_ay?_'
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(e} What kind of sound did the speaker hear? {f) What kind of thoughts overpowefed the sweet
_ mood of the speaker?
(i What is the meaning of ‘mercy? fg} What kind of man prays to the human form
' ' ‘divine’?
(9} Who wrote the poem, The Dwine Image? | - {h) Pick out one fond memory from the poem, The
Light of Other Days.
(h) Where Mercy, Love, and Pity ____ . (Fill in the -
blank) : _ (i} What does the poet remember before falling

asleep?

; ' ’s child and care? : - »
() Who is seen as God's ¢ an (. 'Whom does the poet see as leaves falling in

‘wintry weather’?
(/) What does ‘oft’ stand for?

(k) What dges: ‘ere’ stand for? - 8. Answer any three of the following questions : 2x3=6
() To what does the poet compare his friends? (a) Why does the caged bird sing ‘a fearful trill’?

(b) What does the phrase ‘grave of dreams’ mean? -

7 . Answer any seven of the following questions : | 1x7=7 () What is the significance of the primfose s
and periwinkle in the poem, Lines Written in
(a) What is the meaning of ‘downstream’? Early Spring?
(b) What is a trade wind? o (d} What did the budding twigs do?

{e) Name the different human forms represented by

¢/ Where does the free bird dip its wings? virtues of delight’.

{d) Who is the writer of the poem, Lines Written in : . m Why does the poet feel like ‘one who treads
Early Spring? _ alone’?
(¢} What is periwinkle? () What happens to the poet ‘in the stilly night’?

/118 o /118 ' [ Contd.
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9. Answer any one of the follbwing_questions : 3 | GROUP—C

| { Grammar and Composition )
{a) Describe the helplessness of the caged bird.
11. Make sentences with any two pairs of words to

(b) What is Word th's belief regarding Nature’s illustrate the difference in meanings between them :
at is ordsworth’s ; T

' 2x2=4
holy plan? : _ : .
fair-fare
fci What is the significance of the expression ' '
In Heathen, Turk, or Jew’? cite—site
| eminent-imminent
(d) Briefly describe the banquet hall.
o diary—dairy
petrol-patrol

10. Answer any one of the following questions : 5 |
' ' carrier-career

fa) Compare and contrast the conditions of the

caged bird and the free bird. : _. - 12. lIdentify five nouns and five adjectives in the sentences
: given below : ' ax10=5
(b) What are the reasons behind Wordsworth’s People of every country, whether of England, or Frgnce, or -
lamentations? ' - : Germany, or Italy, or India think that their country is the

best and the greatest. This is a wrong notion; because, like
individuals, every country has some positive and some

{c) Bring out the central idea of the poem, The negative qualities. We must take the good from others.

Divine Image by William Blake. Our country is poor and its people are sad. By following

the healthy practices of other countries, we can help the

(d) How does Thomas Moore portray the theme of - backward people and make our cquntry happier and
friendship in The Light of Other Days? better.

/118 | e /118 - B | Contd.
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13. Fill in the blanks of any five of the following (sentences Earth. Notice the housewives of the village with pots on
with conditional clause} with correct tense forms : 1x5=5 their heads going to the Vﬂ]age wells and thence bnng
{a) She might catch the bus, if she (run) fast. ' water for their homes, all walking with slow, steady steps,

' _ hed in groups, talking to one another as they walk, while the
(b) i;eyosl{:latgm (inform) me, 1 Wmﬂd. have reache | p'ots stand piled overhead, firm like a column rooted in
N earth. Also see the group of villagers sitting in a temple or
1 not go. : . : : :
(C)_ Unlessl they — [requ_est) me, 1 shall not go _ shop or village office in the evening and having their small
(dy If 1 (be) you, I would not seek his help. talks about things in general. It is true that there is a great
fe) I.n case you (see) Sudha, give her this | deal to be done for our villages by way of education,
book. sanitation, and other modern methods of health and
(/' Unless she (mend) her ways, she will happiness.
suffer. o
(g) If 1 [be} a bird, I would fly there. GROUP—D
{h) 1 wish I (can) play football better. : ( Drama )
() Millions of people _____ (die}, if they do not 15. Answer any three of the following questions :  1x3=3

receive the aid now.

() What is the name of the mother of Sheila

. g o
14. Write a précis of the following passage and add an Birling?

appropriate title to it : - : 6

(b) What is the name of the Inspector?
Village life has many charms. There is the peasant rising : _

with the morning star glittering in the sky and turning his (c) Where does the investigation take place?
bullocks and buffaloes out to graze before sunrise. After -
sunrise they are taken to the fields to plough. Watch the {d) Who is Edna?

peasant’s wife milking her cows or grinding her corn! Hear

_ ) Who had taken the name of Daisy Renton?
the lambs bleating, and the birds chirping! How fine the

fields look! While the peasant in his fields is working all () Who is the Chalrperson of the Brumley Charlty
day in sun or rain, as if he plays on the lap of Mother | organization? '

/118 - - /118 ' ' [ Contd.



(12.)

16. Answer any one of the following questions :

(a)

(b)

(c)

What is the initial reaction of Mr. Birling to the
manner of the Inspector’s questioning?

Why does the Inspector not show the photograph
to all the people at the same time?

Can Eva Smith be seen as a victim of personal
and professional exploitation? '

17. Answer any one of the following questions :

(a)
(b}

(c)

/118

Write about the nature of the relationship
between Eva and Mrs. Birling.

How did Mr. Birling deal with the issue of pay
hike demanded by his employees?

Write why Sheila feels that she has been let
down by her family.

%
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PART—A
Fet—=

( Introductory Microeconomics )

1. Answer the following as directed : 1x6=6

ware R Fot sl Tee fa

{a) Define the term ‘scarcity’.

“Tellerel ] Sige Wl |

' cost,

(b) Oppertunity cost is also known as
| o (Fill in the blank)

< e ST |
T (=T 5% < 1)

(c) What is budget line?

Aes @9 62

(d) Define variable cost.
ofRgdwiter I Fee feat |

(e} TC = + TFC.

(Fill in the blank)
(e oR S )

(/ Why is the AC curve U’ shaped?

AC cagreE R ‘U wighes =17

/126

2. Ansv(rer the following questions :

(3)

- 2x6=12

(aJ Distinguish between microeconomics

and macro-
economics. - -

2
Wﬁwmwmwwwww |
Or / &=<1

What are the central problems of an economy?

A @ I TR 5 2
(b} Write two determinants of individual demand.
Ffwers wifem Wefaerei 751 Some o |

Or / |31

What is inferior good? Give one example.

2 v B2 9B Twreme fm

1+1=2

{c) Define the following :
o5 fWaearRe sicn iy

1+1=2

(i) Total product
5 T

(i) Marginal product
oTfe Teoqma

Or/ o=y
Briefly explain the concepts of short run and long run.

: L C1+1=2
TP AIF TPR— R 490 [5RS04 354 |
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(a)

- {d) Distinguish between fixed cost and variable cost. | 2

fe) What is the relationship between AR and MR?

R a7 o o(REEAE e e ol B
Or / Gt

Draw a long-run marginal cost curve and long-run average

+1=2
cost curve. 1+1=

Brerdi oI T (Al S TR o1 < (R SR |

T IR S 2 S e T o
Or/ 9=

Prove that for a firm, price = average revenuc.

ol 1 R GG et AfPRR A, 4 = 5TE S |

Wnte two factors that affect the market supply of a
commodity,

| B TR TS 2 cmm@rﬁwm i

Or/ Ry

If the percentage change in quantlty supplied is 10 and
percentage change in price is 4, calculate price elasticity of

supply. |
o T < TR AR 4 ¥R S PR 2RTER 10 oK
=7, @seE v fememel R )

2

( S

)

3. Explain the law of dnmmshmg marginal utility with the

help of schedule and diagram. 4
WWWWWW%WWWW:
Or / &
Define price elasticity of demand-. Mentioﬁ any three
factors influencing price elasticity of demand of a
- commodity. - 1+3=4
ﬂ&?ﬁm%ﬁwwmmﬁmiwammmmw
el w91 f e ot Senvm Semy w1 ) |
4, What is meant by returns to a factor? State the three
phases of the law of variable proportions. 1+3=4
T aﬁmﬁﬁm{iﬁm%qm? ﬂﬁ?ﬁ%wwﬁﬁam%ﬁﬁ
et e
Or / &<y _
From the data given below calculate {a) marginal cost and
(b) average cost : - 2+2=4
woTe Wil SUEIER 291 (o) AT I . (b) 51T A N T
Output 1|2(3|4|5|6|7|8
Total cost (F) | 1020|2834 ]38 /424856
¥ 37 (G30)
5. Mention four features of perfect competition. 4
Tf AfScafaroTETe Ter BIRBY Al TEe e |
Or/ &%
DlStlngLIISh between monopoly market and monopalistic
market,
QWWWQW ﬁﬁmwwwww:
/126 - [ Contd.



(6) | : (7))

i d orice ﬂoor 4 8. What is consumer equilibrium? Explain the conditions of
6. Distinguish between price ceiling and p consumer equilibrium with the help of schedule and
7 T S s R R e ened<s B | diagram. | 1+5=6
Or / 5l Toeren STl ¥ 9 Bl B9 (FaS ToeIeR SISl (FTNF TS
Mention the effects of the following on the supply of a T T, TP o BT TR e 2 |
commodity : 2+2=4 Or / &&_Y

(@) Fall in the price of factors Discuss how the market demand curve is derived from

(b) Rise in the per unit tax individual demand curves. 6
<1 TR (@5 €9FS ToTS Ty SRR 2SR TrEy 9 | | | mﬁrsﬁm@mwmwmﬁmﬂm R FRA AR,
(a) AT TR 2 | e |
(b} =fs <% T© #1 I . ' 9. “Under perfect competition, industry is price maker and
- _ ' firm is the price taker.” Explain. 6
7 . How does imposition of per unit tax affect supply curve of ‘ol et TGS Tomel (i v RN ue ﬁf‘éﬁ m w1
a firm? | 4 LESTE T
4FF I ACACA fSBFR N G (PO 2SR T 2 | Or / 54y
Or/ WW With the help of a suitable diagram, explain the process of
The demand and supply functions of a firm under determination of equilibrium price of commodity under
perfectly competitive market are given below : perfectly competitive market.
D=5-2P i | %ﬂ@ﬁmw—ﬂﬁﬁﬂmwwﬁﬁ‘wmﬁﬂﬁw
S=-25+3P | | | - AP J7T0T 34 )
Where, P = Price, D = Quantity Demanded and .' |
S = Quantity Supplied. | PART—B |
Find the equilibrium price and quantity. 2+2=4 | o Fee—y
o efearenEe o oSBT e SR S QeI T e ( Statistics for Econlomics )
A | | - - -' 10. Answer the following as directed : 1x6=6
IS)#I—C—)QSQfSP | | o " - | w=Te e foi spifs Teg o | |
T, P =7, D = mﬁ’mmﬁmw S = U‘ITSI?TH @R | (a) Who is known as the father of statistics?
ST T S AR R " O e o Reie Pre Rower i am 2
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() What do you mean by wholesale price index? | 11. Answer the following questions :

2x6=12
| | T 2PPTR T i
S[E@ v TS i B w2 | - |
(a) Define the term ‘statistics’ in plural and singular
. q 3 ot sense. 2
Write one merit of direct personal investigation. _
(©) | | oy WIF GFF 92 ARPR’T et i |
ofoT ATETS ST «B! e A |
' Or / =4y
(d) Which of the fqllowing is a measure of . central Write two importances of statistics in economics.
tendency? wefqwe #f Ry 1o @ e
T PERE (R g R .
K TR 1 2RTe (b} Write two characteristics of statistics. ' 2
(i) Arithmetic mean - IR 751 LBy Tt )
_ - Or / g3
fii) Median ‘ . o _ L :
- Mention any two limitations of statistics.
| oAfPRR & i 15 Maae Sy 341 |
fiii} Mode ' '
T _ {c) Calculate range and coefficient of range from the
: _ following data : 2
(iv)- All of the above S o S S 2P S SRR G S| T
@Y AT :
| (Choose the correct option) ' 8, 12, 18, 22, 13, 20
(o, Tamrmchl AT Sfenean) - Or / %31
(e) _ is the difference between the largest value and - Write two demerits of range.
the smallest value., o IR IR LR TR | | . |
' : (Fill in the blank) - {d} Mention two merits of median. ' ' 2
o9 (A AfTaR e o RSN SedER (I | TN 1 R s
(1R 9% 753 1) | Or / w1 | |
. Write the formula of calculating median in continuous
(/) What is Lorenz curve? - - . frequency distribution, | |
AR ReleTa (Faw SR ST T |
e w4foeE q1=e IS YT IR TG0 B
o | - /126
/126 : | .
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(e} State two demerits 6f standard deviation.
W TRoera vh1 s TEd w4t |
Or / =41

Mention four alternative methods for -calculation
standard deviation . in discrete series.

of

ey IRl Remr oFee e [ ﬁ%ﬂqf%ﬁa*%ﬁ"wﬁﬁ

T 990

() What is scatter diagram? Write one merit of scatter

dlagram

%@%W%?W 951 R T |
Or / AT

1+1 =2

What is arithmetic line graph” Mention one of its uses.

e A (14 T 7 T BT e w44 |

12 Write four main parts of a good table.

W’Tﬁﬁﬂuﬂ%ﬁﬂﬁﬁﬁﬁﬂﬁ“‘iﬁﬂﬂ
Or/f‘-?%’?"’]r

Define sampling errors. Mention its main types.

W§ﬂﬁwﬁt§%aﬁ@mﬁhn:3mq1ﬂiﬁ@@ﬁ$ﬁfﬁm|

13. What is ‘diagrammatic presentatmn'? How is it useful
economic analysis?

''''' W%%wmaﬁvw@ﬁﬁﬁmm—ﬁm%%W%w@m@wv

1126_

1+1=2

1+3=4

in
1+3=4

AT SRR 919 GO S TITG K P

14,

(11 )

Or / 94

Draw a histogram and polygon from the following tabie :

2+2=4

Marks obtained
NG NFT

10-20

20-30

30-40

40-50

50-60

60—70

| No. of students
RIG-BIG1T SRR

10

12

16

20

- 18

9

Deﬁne arithmetic mean. Discuss its properties. "
SRS ores vicest e | B4 CAMEPTR SICase) 39 |
' Or / G=-1

1+3=4

Calculate quartile deviation from the following table : 4

T SIERFI A1) 5PYS 5o W S1efwT <

X 1

2

3

4

3

6

Y | 30

38

50

22

40

25

60

measure of dispersion.

ﬁ@WqWﬂﬁqWWW%WﬁW%T@@ﬁRWWWW%@|

Or / 9«

158, What is dispersion? Discuss the characteristics of a good

1+3=4

Distinguish between absolute and relative measure of -
- dispersion. '

T o Mo S ARSI W w1l e |

16. What are essentials of a good measure of central
tendency?

Wwﬁﬂﬁaw@rmﬂa ﬁmﬁwﬁﬁw '-

/126
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17.

18.

(12 )

Or / T34
Define correlation. Discuss its main types. 1+3=4

ST e frell | YR 24 SRR SEA F4T |

What do you mean by p.rima_ty data? Explain the different
methods of collecting primary data. 1+5=6

2T By e TR T gw 2 andfie o Skeww R ez wcmmer
talll o -
Or / =4]

Define classification. Describe briefly its main objectives.
- 1+5=6

ke i fl | B Y SRR ST 0 9 |

Explain the meaning and importance of index numbers.
2+4=6

I IR B9 O e ey T 4 |
Or / 51

Calculate the mean, median and mode from the follbwing
frequency distribution : - : : 2+2+2=6

e TRl qRegRee Remeem o1 snfAfes o, T e I el

. Class. : 5 : :
| interval |20-~25|25-30|30-35|35-40|40-45|45-5050-55!55-60
Bl Gk <SG '

Frequency | 7 | 9 | 11 | 28 | 30 | 22 | 7 | &

RSN

e ok

/126 | | - c23
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(2)

1. Give appropriate answer as directed : 1x12=12

T Ty Ty T

(a) “Education is the manifestation of divine perfection'
already existing in man.” Who said this statement?

%mpﬁvﬁﬁﬁf‘ﬁ#ﬂaaﬁ@¢ﬁﬁmﬁiiarﬁﬁmﬁ’aizmquamm

w7

fb) Who was the chief advocator of social aim of
education?
ﬁﬁﬂaﬂmwﬁﬁ%¢ﬁmw¢gmwm¢$oﬂasm%ﬁv

(c) The word ‘sociology’ has been derived from the Latin
word ‘socio’ and the Greek word ° g

( Fill in the blank )
‘Sociology’ *b1 Wore: (@b *% ‘socio’ W Nw *m
‘ "3 o[ Teeife Carz | S .
( <& 21 @ =0 )
{d) .Gang loyalty is the characteristic of which stage of
human development?

WﬁﬂEWfriwﬂgaﬁﬁvﬁc¢mﬁﬁ@ﬁa1¢wmtﬂﬁﬁ?

fe) The first attempt to divide the development of human
life into four stages was made by Rousseau in his

| book, _

| ( Fill in the blank )
e PrRE (ol AR AT (AR A TR
ﬁ%ﬁ@?ﬂﬁh%ﬁ‘ﬁ%Tﬁﬂﬁﬁiﬁﬂmﬁ%ﬁ

(?n?ﬁiiﬁqﬁw)

() What is the full form of ARPANET?
ARPANETS 7= F¢51 {5 2

/127

(9)
(h)

)

0)

(k)

()

(3)

In which year was NCERT established?
qER CIREP AN S AN AR (I B 10 91 CafeE 7

Who is the father of behaviourism theory?

HHAY OGS O (N 9

“Cuarriculum is a tool in the hands of the artist to
mould his material according to his ideals in h1s
studio.” Who said this statement?

“ongre = RS we g5 wften W ey e ﬁaﬁﬁ'wm#
SR oife Co W 17 % FARTE e Tl 7

Habit is the second nature of man.

- _ ( Write True or False )

Srer {27 Wizl Bl 2% )
(&= 1 orym foran )

‘Gurukula’ system was preveuled during the
period.

‘ | ( Fill in the blank )
grg oml __ yore e enfRe I
- (el 3R | )

What is the first Assamese newspaper of Assam?

N GMﬁazmn%a!wﬁmnarf¢ﬂ¢—a=ﬂaﬁ$9 -

- Answer the following questions :

2x12=24

(@) Write two characteristics of informal education.

IR e 151 24 e |

{b) Define th.e wider meaning of education.

/127

o SpRfT PR 419eN A 349 |
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(4)

(c) Write any two psychophysical needs of the infants.
rea & coten 1 cr-amPe e Soae 4 |

(d) What are the two stages of childhood period?
QeI FOl ©l 41 T 1% 2

(e} Write two important conditions of a good school
library.
<51 ©1e [RepreT <SR drsa 1o v B |

(/) Mention two educative values of teleconferencing.

TR ST 1 RS s SraEy o4 |

(g) What is autonomic nervous system?

TR WY P QW0 2

' (k) Write two functions of thyroid gland.

sErfed 751 S Tewy 49 |

fi) What is instinct?

2R3 FRE (AT 2

() Write two differences between reflex action and

instinct. :

S o e wiqfas rers <=1 o1 =Aefs fBra )

(k) What is Satra?

A FF QA ?

() What is ‘monitorial’ system?

/127

“FGRE AU FF QE 2

3. Answer the following questions :

(S)

4x10=40

o9 2PPTEd Teq Rl

(a)

(b)

(c)

(d)

(e)

@

/127

Write any four differences between the individual and
social aims of education. '

R TR SIF TSR e WEe 4 R SR
oAfey o4 | '

Discuss the relation of education with economics.

Prem wore wdfRemT 90 [ 490 |

“Adolescence is a period of storm and stress.” Discuss
four problems of adolescents highlighting this
statement. |

“TICTE Tarr I W Ao I &% SFET w1ors el AR
Wsﬁﬁﬂwwwn

Discuss four prdfessional qualities of a teacher.

Prpe <erTq BIRG! IFeTerE @9 oNces= 391

Write four functions of SCERT.
it Tl SRR W 2T AR BIRET SR e |

Discuss four principles of curriculum construction.

AT 2EReT BT DS Sueem 4 |

Write two merits and two demerits of observation
method.

el ~imfeq 7o1 SR e 751 SRy ToE 01
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(6) (7))

(h) Discuss the role of family and teachers in the Or / =33t
formation of good habits and dlSSOlutIOI'l of bad habits What is perception? Discuss the characteristics of
of the children. : 1+5=6
perception. _
PR 1-orem oot S F-HPT SR IS AR o free RCIG IIF A ? AR TR ST < | |
m?ﬂ HICEOAT 91 1

7. In which year for the first time Gopal Krishna Gokhale

(i Discuss the educational conti'ibu_tio_ns of Missionaries submitted the Compulsory Education Bill to the ‘Emperial

in Assam. _ - Legislative Council’? Discuss, in brief, any five main
WS RG] eI SRR A ) features of the Gokhale’s Bill. = 1+5=6
| SR @ TS (AR (NPoRRe (e “SiepTers ?ﬂm il
(/) Write four important recommendations of Wood’s o emm wiR «Riee 7 o Rew o e B @i #ivs s
Despatch of 1854. S 1 | '
Sve8 BT TTT (TRIPTGA BT Yo R = | Or / &3t

- - 1 . What do you mean by universalization of primary
3. Discuss ﬁhe role of teacher as a. facilitator qf fearning. ° education? Briefly discuss any five aims and objectives of
férseer Sperial fpicet Frrea gt wcemeey Sarva Shiksha Abhiyan. | 1+5=6
Or / & | e enafie fe e & g SR st R S
“Teacher is a social engineer.” Discuss the role of teacher
in society highlighting this statement. | :
' * k%
‘ﬁwmwﬁwml”ﬁwﬁawwﬂw—ﬁm | |

Wwwn

5. What is educational psychology? Discuss the relation
between education and psychology. 2+4=6

T IR 1 AICeT 2 Tl w1 NGIRGareTa SIS STy SIIcaoeTl =01 |

6. What is brain? Discuss the different parts of brain. 1+5=6
A8 A NG I (@A 7 eF [fen supenE S 741 | '
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Q. No. 4 [(a)—{d)] carries 6 marks each : - 6x2 =12
Total = 50

" PART—B / %]

Q.No. 5 [(a)-(j}] carries I mark each | : Ix6 = 6
Q. No. 6 [(6)(j)] carries 2 marks each I%6 = 12
Q. No. 7 [(a)-(h)] carries 4 marks each 4x5 = 20
Q. No. 8 [(a)—(d)] carries 6 marks each | ; 6x2 =12
Total = 50

Total (Part—A & Part—B) : 50 + 50 = 100
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(3)

(2) |
() In which case did the Supreme Court advance the
PART—A - | theory of basic structure of the Constitution of India?
I
mwmﬂmcwmﬂﬁwwmﬁaﬁ—
( Indian Constitution at Work } _ .Wﬂﬁvﬁf@?{ 2
(W L Ot ’kﬁ*‘il‘l ) ) i . ) ‘ .
o (9) The Directive Principles of State Policy are justiciable.
1. Answer any six from the following : 1x6=6 n‘. - _ ( Write True of False )
fRRerEd R @ 25r Tes T - | 15 “if e Rt Moz amcen |

(meﬁﬁn)

{a) Who is the ex officio Chairperson of the Rajya Sabha?

_ : (h) Who presides over a Joint Session of the Parliament?
FREPTS AT STeefe (i 7. |
AT JoRI SHTTS (et Topeifey 3 2

(b) Who is the Real Executive of India? |
(i) Which Article of the Indian Constitution describes the

; oo e e : | | - | amendment procedure?
(c) Mention one feature of the Fundamental Rights in SR PR PR SRS e m“@m 9efell <91 R 2
India. | ' h )
. ' (i) Who was the President of the Constituent Assemb]y'P
wred (At SRR GB1 (afE Ty T4 |
- R TR ﬂ‘*mﬁ S (T wri%ﬁ ?
(d) When was the Indian Constitution adopted? | |
SR R R = ! _ ' 2. Answer any six from the following questions : 2x6=12
| | - R _mﬁmsﬁa@mﬁﬁn:. | |
(e) The 42nd Amendment of the Indian Constitution was
passed in the year ( Fill in the blank ) | (a) Mention two means of ensuring independence of the
_]udmlary in India. :
—ﬁsm et
T e SRR s 0T AT s | | [ S WW@I%WWW| |
/125 | | | [ Contd.
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(4)

{b) Write two main points of the Objective Resolution.
Trarpd A o1 e e o |

{c) Mention the name of the two States in India having
bicameral legislature.

- s 4 SRS §I e TN T P4 |

(d) Mention two provisions that India borrowed from the
US Constitution. -

R TG RS o7 TS 2 T 1 IR SCE 9 |

(e) What do you mean by Preventive Detention?

mmﬁﬂﬁcmhrmmmﬂﬁmﬁﬁﬁTﬁ?

() Why is India called a Republic?
ST e o 7 R =2

{g) Write any two differences between the Fundamental
Rights and Directive Principles of State Policy.

dﬁ%@*ﬁ%@ﬁEW@ﬁﬁ°ﬁﬁﬁmmﬁwéwq¢§m%aﬂmﬁs%miﬁc¢mm
7o <{ifes ford |

(h) Mention two federal features of the Indian
Constitution.

SO TR 151 TEE CARE S

/125

| 3. Answer any five from the following questions :

/125

(S)

(i) What do you mean by Universal Adult Franchise?
SN SRR COOIRPE e & o 2

i/ Mention two functions of the Municipal Board of
Assam. | |

Ewmacﬁmcﬁ&waﬁm?ﬂ#ixﬂﬂaWTxf

ufrs eppaza & e Ao Tea forg

fa) Explain in brief the unitary characterlstms of the
Indian Constitution.

iﬁﬁ%ﬂﬁ#ﬁﬁﬁaﬁmﬁf@ﬁﬁrWWm$Bﬁﬁfﬁmmﬁﬁm|

.(b) Explain the debate over the basic structure of the

Indian Constitution.

SN SRR 1 A oo o Reechr Roser 4 )

{c) Explain how the Parliament controls the executive.

ﬂ?ﬁﬁﬁmﬁmﬁﬂﬁc¢a@¢ﬁﬁaﬁaﬁaiﬁmmq¢mw

{d) What do you mean by political ph1losophy approach’J
Explain it in Indian context.

cRyfs wq gEes R & gee @W@@ﬁ‘@ﬁ?‘?ﬁﬁfﬁ@ﬁq
R .

(e} Explain how the Constitution is a means of democratic
. transformation.

'mﬁm3$a¢ﬂmmﬁﬁﬁﬁaﬁmﬂme%MﬂﬁmNW¢mu

"[ .C_c:mtd.

- 4x5=20



(6)

(/1 Discuss the main sources of the Indian Co_n’stitution.'
SIS RGN 2 SOPTR S 4 |

(g} Discuss the role of the Governor during the President’s
rule.

@%WW_WWWW@WW!

{h) Discuss the powers and functmns of the Lok Sabha.
ARSI 0] ST FRATE ST 1 |

‘4. Answer any two from the following questions : 6x2=12

fFafafre erparza R e 7oR TeT for

(a) Discuss the powers and funchons of the Supreme
Court of India.

meWWWWW|

{p) Discuss the Fundamental Rights enshrined ‘in the
Constitution of India. |

ﬁwﬁwaﬁﬁ@cﬁﬁ@wﬁs@ﬁwwwn

(c} Discuss the composition, power and functions of the
 Election Commission of India.

TGS TG SCISE 515+, S S FIGE SCEsHl T |
(d) Discuss the lawmaking procedure in the Indian
Parliament.

w@nwwswﬁ WWWI

/125

( 7))

ParT—B
Y

( Political Theory )
(AT oF )

5. Answer any six from the following questions : - 1x6=6

e e R e 26" Te o

fa) Who wrote the book, Republic?

Republic 93 54+ (i foriifes 2

{b} Who put forward the concept of distributive justice?
TReaongere Ea Gl I SeeiRRe 2

{c} Give an example of political rights.
THAEP WIS b1 Twreger frsy |

(d) Write a difference between negative and positive peace.

- e = 2T RA e @bt ol B |

{e) Mention a difference between Indian secularism and
- Western secularism. |

—N%WWWWWWWW@WW
WW|
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(8) | (9)
() In which year was the Universal Declaration of Human (d) What do you mean by global citizenship?

Rights (UDHR) adopted? : (TR WRTY ?ﬁ'ﬁl 153 T2
TR WRPRS TREA (IRTE e 2 2R 2

(e} Mention two negative dimensions of development.

{g} Write a feature of development. BawTs 1 RIS T SoEy 4
I ' ml {f/ Mention two forms of equality.
(h) Who first used the term ‘politics’ ? | ST YT 43 B | -
OIS WO (B AU KA ﬁ‘ﬁf@{l?' | | | ~ {g) What do you mean by social justice?
| e S e = 3@ 0

i) Who wrote the book, Long Walk to Freedom?

_ (h) _Menﬁon two subject matters of political theory.
Long Walk to Freedom wWa S84 (FICT RfRE 2

| AT OGS 151 RFE Tead 41 |
(i) Give an example of Human Rights. () What do you mean by individual liberty?
: ' ' o (i} What is meant by national right to self-determination?
6. Answer any six from the fqllo_mng questions : 2x6=12 — & & ﬂ‘ﬂf\ﬁ@ﬁmﬁ?
RS erpze R @ HR Teg B - |
(a) Mention two forms of structural viclence. 7. Answer any five from the following questions : 4x5=20
“sfiefers e 1B1 g@e TEy 91 | | PR e R e #fivsie T forar

{a) Explain the different 'challenges to = peace in

(b} Why do 'we need constraints in enjoying freedom? contemporary world.

BTl Terers FCAICS PR GUa o e ? - SRS e #ifes [fem arongene Rewwe w4 )
{¢) Mention two components of nationalism. " : . {b) Write a note on alternative concepts of dé_velopment.
e S . e R o R o o B



( 10 ) | (11 )

{c) Write a note on non-viclence. ' | {b} What is freedom? Explain the main dimensions of
SROIT eoe «bt (bRl faan freedom.
FfATe1 5 2 T 2 T e <=4

(d) Explain the concept of liberty as put forward by _ :
O J. S, Mill. ' {c) What do you mean by secularism? Write a critical note

on Indian secularism.

. «qu, fieR FRTeR g/ Resss 390 | |
? wffrcerrorm P 3 gon? ord wfRacerrorRTE eome bl

. o SIS CBrpt foren |
{¢) Write the relationships between rights and duties.
SRR WF TR e FeofTgR o | (d) “Political liberty without economic equality is
- meaningless.” Explain. :
(f Mention the differences between Political Science and AT TR AL FEASE FINTS ST 177 A AN

History.
e Reem o 2z Tre mwmww |

* % ¥k

(g) Explain John Rawls’ theory of justice.
o TR IS Tg R ¥ 1

{h) Mention four differences between citizens and aliens.

meﬁaswﬁmﬁﬁwmﬁﬁm@*@mww l_

- 8. Answer any two from the following questions : 6x2=12 -

RS e B e o Teq fora -

(a) Define political theory. Discuss the utility of the study
of political theory.

W—*ﬁwﬁww—@ww%ﬂmﬁﬁw
WWI

/125 ' _ | ’ . o . /125 | | C23



oz

= e

-Total No

. of Printed Pages—7
' 23E—HIST

2023

HISTORY

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the guestions

Q. No
Q. No
Q. No

Q. No

/123

ALLOTMENT OF MARKS
.1 car'r_ies_ 1 mark each o | 1x12= 12
. 2 carries 2 marks each : - 2x12 =24
. 3 carries 4 marks each : 4>< 10= 40
. 4 carries 6 marks each 4 ' 6x 4="24
Total = 100
t Contd.



(2)

1. Answer the following questions (any twelve) : 1x12=12
o eePTRd Teq forel (| cTee et ¢
(a) To which sub-group do the Primates belong?
ARTABTF (P! ToI-(5e WG ?
{b) Write the meaning of ‘pithekos’.
“Preaes’ =HoR = i |
{c) Who first made the stone tools?
(RGP o (R <iefE 2
(d) | Name one Chinese traveller who visited ancient India.
oI ©rEe T 1 @ Bl wifRaree ww o
fe) Who was Tacitﬁs?
CHB55 e et 2
(/) Where was the Abbasid Uprising broke out?
ARy Reer 37 e tafew 2
- {g) What is Maqa.mat?'.
| . Te R
(h) Who first wrote the Geography of Africa?
(A A% PR peone s 2

(i Name the work of Marc Bloch.
I A9 219 T T

/123

(3)

()i Who was the leader of the Protestant Movement? .

ST T WS (Sl (T SRS 2

(k} Name one thinker who showed knowledge is different
from belief.

| QWWW@WWW@WWWﬁWl

{J Who developed the system of finger readmg for the
blinds? :

e AT SR ﬁm %F—w R Coe T 2

{m) When did Mahatma Gandh1 launch Non- Cooperatlon
Movement?

TRl SERICH (TR TRl W e FRRE 7

2. Answer the 'follc}wing questions in brief (any twelve) :
| 2x12=24

e PPt 5y e fRan (R e Ab)
(o} What do you understand by adaptatisn?

Wﬂﬁ@'\ﬂ ﬂﬁf@’[ﬁsiﬁ”

(b} Mention two ways of obtaining food by the early
human. . _ _.

m’@swmwwm@xsmquw;

{c) Write any two char-actcnstlcs of the _Hominidae.

faiferereer i ot o1 Cafisy feram o



(4) (5

{dj Who. were the main ‘three players’ of the Roman (I} Which two European scholars first used the term
Empire? ‘Industrial Revolution’ in France and Germany?
CINI ST Y4 “cejea Tl st (o snifess CFIN 7 TR R =gy e e wfiare ‘e e’
| - XHCBT AR FRRE 2

(e} Name the two coins circulated in the Caliphate. _
' {m) Why did London become the Global Trade Hub in the

Tl
e 26erS w1 @i I fEy | 18th century?
{f) Name the book of Ibn Sina on medicine. How many o _ > et we o Ry At (7 o2 oM 2 .

names of drug are enlisted in the book?

8y ee TR T3 e sme W i 1+ @ sweers fegmfiy
BT W AHRE g 2 . vade TR Yl Wi { @ 16 v o

{n) Write any two clauses of the Combination Act of 1795.

(g) Name two taxes paid by the travellers and traders to
the Mongols.

WWWWWWW&W%@%W

3. Answer the following questions (any ten) : 4x10=40
wore frml ereprae Teq femy (R e wbr) :

EICACRN ‘
(a) Write a note on the urban life of Ur.
{h) Mention two privileges enjoyed by the French nobles. | T R G ere @b (i forn |
b TS 1 PR e 1 | ' (b} Explain the significance of urbanization.
i) Name two architects of Humanism. ORI SR SR BT IR AT |
? T 2T T fo74 | | (c} Write an essay on the military oi“ganization of the
_ - " Mongols.
() What are the two Houses of the British Parliament?
| | I FCoEPTeer SRS Moo «aft f[aaer fr |
- b st ST e T o | .
| : {d) Discuss about the economic expansmn in the Roman
(k) What is classical style of architecture? o Empire.
i grretaa 2 - | | AN TSGR AN TeRe R Sean=) 441 |

/123 | ' /123 | [ Contd.



(6) (7)

(e} Write a note on Dona Marina. . {b) What do you understand by Crusades? What were its
effects? 2+4=6
T RRE S CRENIEY «ﬂﬁi CBTep1 ot | |
m giece 16 9o 7 agma werge & onfew 2
{f/) Was there a Renaissance in the 14th century in
Europe? Discuss. : _ {c} Discuss about the characteristics of Humanism.
s XfePR OIS TER BRI 2 W | TRTSRIT CARERTE S 1 |
(g) What caused political changes in the 14th century (d) What do you understand by the displacement of
Europe? - indigenous people with special reference to North
America? Discuss.
FHRAE FF s8 *fed ?@@T’ﬁ AT AfETT  2eR o
oI 7 ey rafere Wiy @oid oy A geese I g,
SICETHT B4 |

(h}) Give a brief idea of Mutual Perceptlon :
: (e} Discuss about the position of the Mongols in the

TR 4 b B 3 fo history of the world.
(il Give a geographical description of China. g SfSarTe THEHEIT BW T=TE AT 9 |
Bl «fb ceteotfors Reae a1 (f) Draw a map of Britain and show three cotton textile
(i} Write a short note on the Meiji Restoration in Japa.n manufacturing areas. : ' - 396
wwa?@wﬁmﬁs&cﬁm%n - G @99 (Re iR S R 9 To a1 TOlD! wee qreq |
(k) Write a short note on the Incas of Peru. ._ | | | - * %k
| Cﬂwwmaﬁ?sﬁcﬁmﬁm |
4. Answer the following questlons (any four) | 6#4=24 _
wors A m v i (R o ORGY) :

(a) Discuss briefly about the evolution of human.

Wig Radee R o BeeTsar 341 |

/123 | a : - /123 | | C23
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ENVIRONMENTAL EDUCATION

Full Marks : 40
Pass Marks : 12

Time : 2 hours
The ﬁgures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

Q. No. 1 carries I mark each - T 1x5= 5

Q. No. 2 carries. 1 mark each ' : 1x3 = 3
Q. No. 3 carries 2 marks each : : 2x5 =10
Q. No. 4 carries émarks each. | E 3x4 =12
Q. No. 5 carriéé. 5 marks each. : : 5x2 =10
| | | Total = 40
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(2) S (3)

1. Answer in short (any five) : 1x5=5 ~ (h) Mention the shape of the cautionary road signs as per
g o (R . the Motor Vehicles Act, 1988, )
] o1t (A e ) '
i 1088 Wi TR R IR ST afE g R,
TCEY 91 |
{a} Mention any one of the components of environment. o '
R R @leT <51 Boir W S W |
| | 2. Fill in the blanks (any three) : B 1x3=3
(b} Mention any one of the four segments of environment. _ ) 218 /T FAI (ﬁj CEFIW ﬁgﬁﬁ) .

“ffQcR BIRG! S & (I @B 1 SewE 40 |

(a) percent of the earth’s Surface is covered by water
bodies. _
(c} Give an example of artificial ecosystem. . T
- R Topal Tl TN WK o |
lam “Rfefeemy 9bi s frar |
_ (b) percent of oxygen is found in the earth’s
{d} In natural ecosystem, bacteria and fungus have been atmosphere.
considered as which type of consumers? wTa| | @T‘?T.WW MHETE (AT T | '
mﬁﬂﬁﬁﬁ—@w&mwm\wﬁwﬁewqﬁ S CoTre T
A R 2 ? _ ' {c} . is one type of omnivorous animal.
| ARy TR e |
{fe) Name the main gas which causes ozone layer _ ' :
depletmn . _ _ (d) The Disaster Management Act was adopted by the
S R T 9 < (TR T e | .o Government of India in the year :
_ TS \SWW‘STWWWW GEQIETE _ IS |

(fl Mention one major mine disaster occurred in India.

SRS KBS (R¥1 @B T < T w5

fe} To protect en_vi_ron_men_t, the Government of India
passed the Environment Protection Act in the year

{g) Write the name of one renewable energy resource. - - HfR RTHR A SRO T 5T ARG T S
Taeaecsy <o <5 Gfeq i o | | | aa-équ R

'/141. ' _ . /141 : | : | [ Contd.



(4) | | (5)

3. Write short notes on (any five) : 2x5=10 (h) Major causes of deforestation in N-E India

{a) Assam State Disaster Response Force

BRG] TET-IHTT INLA WOW 24 FRPHZ

. Distinguish between the following (any four) :

o] TS el TR SR 3x4=12
eresTRs WEe 4% <18 T (R @ wifEet)
(b) Need of wearing helmet by the bikers and riders ( .) ' _
' a) In situ conservati ' :
TS S ICEEE P (cos) +fReeE armaEs ion and Ex situ conservation
S BT HF 2R
(c) What is indicated by three kinds of light at traffic
points? - | (b) Learner’s licence and Main driving licence
G e @ cra fefer iR & prE A1 =ARCE =T o1 R AR
(d) Conservation of biodive'rsity. ¢/ Mandatory and Cautionary road signs
te b KT LTS F STeFP A2
(e} Zebra crossing (d) Genetic biodiversity and Species biodiversify
o femere tog (afbws e aefears tem (aba
() Greenhouse effect - fe) Primary pollutants and Secondary pollutants
CTeEeR 21 T A A (N 27 |
(g) Sustainable development (i Autotrophs and Heterotrophs
TR THE T8 S TS
141 :
/141 / [ Contd.



( 6)

( 7))

} Natural and Man-made noise pollution . . | _
(9) pol n (e} Méntlon the common causes of road accidents. Write
B L TR X o _ brn-eﬂy about any two rules for safety' in road travel

enlisted in the Motor Vehicles Laws.

o 3+92=5
(h) Metallic and Non-metallic mineral resources g A ST Ty ——— _
qreT S S-qTed G T aRE R e 151 wiemam fe Reca wges foren
* %k k
5. Answer the following questions (any two} : 5x2=10
ol IR e T (R e )

{a) What do you understand . by environment? Write
briefly the necessity of environmental awareness.
2+3=5
offdea e f 77 ARGPI-SFAER TR SAGARS] BT
et |

(b) What is ecosystem? Write a brief note on natural
ecosystem, 2+3=5

ofifafoeg Fo 2 argRes ARfREeE € <1 5 (BT |

() What do you understand by biodiversity? Explain
briefly the meaning of ecosystem diversity. 2+3=5

te cafoas g 6 3o 7 RiEfeeg (b u vyt T

(d) What is the basic difference between Natural disasters
and Man-made - disasters? Discuss briefly the

man-made disasters with example. 3+2=5
mﬁmﬁwwwmwwwaﬂﬁo R2ESUMES
TTRPTR e R TS e 3 |
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